Additional file 8. The overall pooled positive likelihood ratio, negative likelihood
ratio, and diagnostic odds ratio of 23 machine learning prediction models
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Hond - 2.66(2.18-325) Hond - 0.76[0.68 - 0.84) o 351[260-4.76)
Hond |- 467437 - 499) Hond - 0.19[0.14-027] | - 23.99(16.22- 35.47]
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Lwo 1. 571(5.53-589) Lo - 053[0.51-0.55) - 10.79(10.15- 11.47)
Luo . - 665(6.14-7.21) Lo 050[0.47-054] - 1320(11:39 - 15.31]
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vanViet | ——fj———— | 350[147-834) van Viet | —s——1— 0.17[0.04- 0.63] Le—————— | 2100(326-13548)
xu | 164[1.21-221) Xu —.— 057[0.38 - 0.86] - 287[1.43-5.75)
Schatz | : 1.35(129- 1.41) Schatz : - 0.70(0.65-0.75) = 183(1.73-2.16)
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